OA 3, 4, 5, 8, 9   Teacher Model
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[image: image1.png]There are 6 large picture frames. Each
picture frame contains 2 pictures. What
number sentence can be used to find the
total number of pictures in the frames?
A 6:2=3

B. 6+2=8

C. 6x2=12

D 6x6=36
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[image: image2.png]Kyle bought 6 packs of bottied water for
his club’s hike. There are 12 bottles of

water in a pack. How many bottles of
water did Kyle buy?

A. 72 bottles of water

B. 60 bottles of water

C. 48 bottles of water

D 36 bottles of water
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[image: image3.png]Jesse needed to sell $75 worth of fundraiser
items to earn a special prize. He decided he
only wanted to sell buckets of cookie dough.

Ttem Cost
Cookie Dough Bucket 59
Calendar 5

How many buckets of cookie dough would
Jesse need to sell to earn the prize?

A9
B. 8
C.7

D 6
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[image: image4.png]Raul has 72 stamps to add to a book. He
has enough stamps to fill all the pockets
on one page. There are 9 pockets in each
row. How many rows are there on one
page?

A.

B.

C.

12 rows

. 9 rows

. 8rows

6 rows
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[image: image5.png]study this relationship.

*kkX —WWPW

If * =3, how much is ¥ worth?
A 4
B. 6

C. 8
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[image: image6.png]What number is the solution to this
equation?

B. 16
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[image: image7.png]Which of these number sentences is true?
A 5x0=5

B. 6x1=1

C. 4x3=3x4

D 2%4+%5—10x2
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[image: image8.png]Which numoper sentences will have the
same product?
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[image: image9.png]Francis is practicing playing her violin 2
hours a day. Her goal is to practice 10
hours this week.

If Francis has already practiced 3 days this
week, how many more hours must she
practice to meet her goal?

A. 2 hours

B. 4 hours

C. 7 hours

D 8 hours
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[image: image10.png]Thomas has 12 ball caps (¢ ). Six of the caps
are for his favorite football team, and the rest
are for his favorite basketball team.

Which equation could be used to determine
how many of Thomas’ ball caps are for the
basketball team?

A 12+6=c

B.c-12=6

C.6+c=12
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[image: image11.png]Which number comes next in the pattern 3,
9,27, .7

A. 30
B. 45
C. 54

D 81
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[image: image12.png]Which number pattern follows the rule
shown below?

Add 4, subtract 1

A 4,8,7,11,10, 14, 13,
B. 4,7,10, 13, 16, 19, 22,
C. 4,8, 12,16, 20,24, 28,

D 4769 8 11 10, 13,






OA 3, 4, 5, 8, 9   Teacher Model

	1
[image: image13.png]There are three times as many stuaents
from North Carolina in Ms. Taylor's class as
there are students from other states.

If there are 5 students from other states,
how many students are there in Ms. Taylor's
class altogether?

A 15
B. 20
C. 25
D 30
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[image: image14.png]Ben has 28 photographs he would like to
put into an album.

Which is one way Ben can arrange the
photographs in his album and have the

same number of photographs on each
page?

A. 4 pages with 6 photographs
B. 7 pages with 4 photographs
C. 3 pages with 8 photographs

D. 5 pages with 7 photographs






	2
Pedro has placed 4 goldfish in each of his 9 fishbowls.  How many goldfish does Pedro have in the 9 fish bowls?

A. 38

B. 36

C. 34

D. 32


	4
[image: image15.png]There are some stuaents in the gym
getting ready to participate in a relay race.
The teacher divides the students into 12
teams with 8 students in each line.

Which equation represents the teams and
students in the relay race?

A +12=8
B. x12=8
C +12=8
D. ‘:I -12=8







	5
[image: image16.png]Which equation can be used to find the
value of y?

A 7+y=56
B. 56-y=7
C.7%xy=56

D Y=56=7
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[image: image17.png]Mike walks 5 miles every morning. The
missing number in the number sentence
below gives the number of days he will
take to walk 35 miles.

35+7=5

How many days will he take to walk 35
miles?

A 6
B. 7
C. 30

D 40
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[image: image18.png]Using the Communicative Property of
Addition, what number is missing from the
number sentence shown?

[80 + 20 + 99 = 7 + 99 + 80

A 20

B. 80

C. 89

D 90
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[image: image19.png]What is another way to write the
expression (3x6)x2?

A 12x2

B. 18x3

C. (2x6)x6

D. (3x2)x6
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[image: image20.png]Which number goes into the to make
the number sentence true?

13+9=]+7
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[image: image21.png]Mr. Brown walks 3 miles each day. His goal Iis
to walk 30 miles. Which equation will help Mr.
Brown see how many more miles he needs to
walk after 6 days of walking to meet his goal?
A 3x6+m=30
B. 3xm+6=30
C. mx6+3=30

D 3x6+30=m
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[image: image22.png]What is the missing value in the pattern
shown below?

3,6,7 24,48, 96
A9

B. 12

C. 18

D 21
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[image: image23.png]A rule was used to complete this number
pattern.

435, 441, 447, 453, 459,

If the rule continues, what will be the next
number in the pattern?

A. 461
B. 465

C. 466

D 467






Name ____________________________________________________                                           OA 3, 4, 5, 8, 9   

	1
[image: image24.png]Marchelle and Marcus had 4 slices of pizza
each for dinner. They ate the same thing the
next 9 days.

At the end of 9 days, how many slices of
pizza will they have eaten altogether?

A. 13
B. 22
C. 36

D 72
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[image: image25.png]A pack of bubble gum contains 8 pieces. If
Jamie has 32 pieces of bubble gum, how
many packs were purchased?

A 4

B. 8

C. 24

D 32
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[image: image26.png]Which problem can be used to find the
quotient of 36 + 3?

A. 6x6=36
B. 9x4=36
C.4x9=36

D 12 x 3 =36





	5
[image: image27.png]Which value of &/ will make the equation
correct?
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[image: image28.png]In the expression 8 X (13 - 8) + 4 + 5, what
is the first computation that should be
completed?

A 4+5

B. 13-8

C.8+4

D 8 x13
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Gina had two groups of 20 cookies each.  Then she made 12 more.  How many cookies does Gina have now?

A. 52 cookies

B. 40 cookies

C. 34 cookies

D. 32 cookies
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[image: image29.png]Fran fillea up 15 green balloons ana 24
yellow balloons for her party. 8 balloons
were popped during the party. How many
balloons were left?

A7

B. 16

C. 31

D 39
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[image: image30.png]Brianna’s class is trying to raise $1,000 to
help support a local food bank. During
the school’s fall festival, they raised $247
at a bake sale and $430 at a dunking
booth.

How much money do they still need to
raise?

A. $323
B. $570
C. $747

D. $753
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[image: image31.png]Laura was asked to write the numober five
thousand forty-three in another way.

Which should Laura use as the correct
answer?

A 50 +40+3
B. 500 +40 + 3
C. 5000 +40 + 3

D. 5,000 + 400 + 3
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[image: image32.png]Find the missing number.

42,35, 28,7, 14

A. 21
B. 14
C.7

D S5






Name _________________________      MATH HOMEWORK
	OA.1
[image: image33.png]Mike’s uncle paid him $8 per hour to help
him paint a fence in his backyard.

If Mike helped him paint for 6 hours, how
much will his uncle pay him for his work?

A $14
B. $42
C. $48

D. $54





	OA.1
[image: image34.png]Juanita sold / baskets of peaches at the
produce market. Each basket had 11
peaches in it.

How many total peaches did Juanita sell at
the produce market?

A. 19 peaches
B. 72 peaches
C. 77 peaches

D. 96 peaches






	OA.1
[image: image35.png]Francis earns $8 per hour for babysitting.

How much money does Francis earn if she
babysits for 8 hours?

A. $16
B. $56
C. $64

D. $72





	OA.1
[image: image36.png]AleC’s uncle paid him $6 per hour to help
paint his house. If Alec helped him paint
for 9 hours, how much will Alec’s uncle
pay him for his work?

A $24

B. $36

C. $48

D. $54





	OA.3

[image: image37.png]Juan has 8 tomato plants in each of the 7
rows of his vegetable garden.

How many tomato plants does Juan have in
his vegetable garden?

A. 54
B. 56
C. 58

D 64





	OA.3

[image: image38.png]Tristan buys 12 small baskets of peaches.
There are 6 peaches in each basket.

Which equation would you use to find the
total number of peaches Tristan bought?

A 12-6=
B.12+6=
C.12+6=

D 12 X6 =






	OA.3

[image: image39.png]Jane is planning to give her teachers fruit
baskets for teacher appreciation week.
She has 75 apples and places 5 apples in
each basket. What expression can be used
to find the number of baskets she is
preparing?

A.75-5
B. 25x3
C.75+3

D 75 =5





	OA.3

Every day Erin practices playing the piano.  How many hours does Erin spend practicing the piano in 7 days?

A. 30 hours

B. 35 hours

C. 40 hours

D. 42 hours

	OA.4
[image: image40.png]If Ms. Albert arranges her 30 classroom
desks into equal rows of 6 desks, how
many rows will she have?

A. 5 rows

B. 10 rows

C. 24 rows

D 36 rows





	OA.4
[image: image41.png]Thomas bought 35 popsicies and equally
divided them among 7 of his friends. How
many popsicles did each friend receive?
A. 5 popsicles

B. 7 popsicles

C. 28 popsicles

D. 42 popsicles





	OA.4
[image: image42.png]Neil has $20 to spend on birthday cards for
his family. He needs to buy 7 cards. What
else does Neil need to know to be sure he
has enough money?

A. the amount of time spent looking at the
cards

B. the cost of each card
C. the number of cartoon cards

D the store hours





	OA.4
[image: image43.png]Cynthia bakea 72 cookies, and she wants to
share them equally among 9 of her friends.

How many cookies will each friend receive?
A 3x9=7
B.27+3=7

C.9x8=

D 72 ~9=7






	OA.5
[image: image44.png]Which statement is true?
A 8+2=2+8
B.1x7=7x0
C.2x3x4=5x4

D 4x2x3=8%x%x3





	OA.5
[image: image45.png]Which statement is true?
A 0x8>0x4x2
B.10x3=5x3x3
C.10+5=5+10

D 9%x1x3=90x3





	OA.5
[image: image46.png]Which statement is true?
A 9+3=3+9
B.1x9=9x0
C.2x3x5=5x5

D 5x2x3=10x3





	OA.5
[image: image47.png]Which number sentence Is true?
A 25+15<35

B. 12>8+5

C. 22-9<15

D 7+3<6+4





	OA.8
[image: image48.png]What is the value of x 2

|34+x 2






	OA.8
[image: image49.png]Mr. Davis started walking 4 miles each
day. His goal is to walk 36 miles. After 6
days, how many miles does Mr. Davis
need to walk to meet his goal?

A. 12 miles

B. 18 miles

C. 24 miles

D 30 miles





	Solve each equation below
3 = ____ ÷ 7

32 ÷ 8 = ____

24 = 4 x ____

6 x 7 = ____ 
	Solve each equation below

6 = 54 ÷ ___

35 = ___ x 7

178 = 460 - ____

856 = 324 + _____


	OA.8
[image: image50.png]A store has 2 cartons of pencils. There are
5 boxes in each carton and 10 pencils in
each box.

How many pencils does the store have?

A 17

B. 50

C. 52

D 100




	OA.8
[image: image51.png]Jacob has 3 packs of baseball cards. Each
pack has 5 cards. Simon has 7 fewer
baseball cards than Jacob.

How many baseball cards does Simon
have?

A. 1 baseball card
B. 8 baseball cards
C. 15 baseball cards

D 22 baseball cards






	OA.9
[image: image52.png]Find the missing value from the pattern
shown.

3, 6,12, ..., 48, %6
A. 15
B. 18
C. 24

D 36





	OA.9
[image: image53.png]What is the missing number in this
sequence?

4,16, ?, 40, 52, 64, 76
A 32
B. 28
C. 24

D 20





	OA.9
[image: image54.png]Which number sentence shows that it
does not matter which order numbers are
added?

A 8+2=8+6

B.8+6=8+2
C.8+6+2=8+2+6

D 8+6+2=8+6+2




	OA.9
[image: image55.png]In the set of numbers in the box, what odd
number is located between two even
numbers?

B. 12







